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Describe under reamed pile with sketch.

3~ e UIsd &I 3 & 9rer 9uiq o |

8. Design an R.C.C stair, Size of stair case is Smx2.5m

and height between two floors is 3.6m.
6

5mx2.5m IATHR el B8R DI ARl el
BT BT B | T B & §14F DT A
3.6m 2|

OR(37214)
What are the limitation of different types of stair

cases with regard to their raise and tread ? How

would you choose them.

RIS U9 ¢ & wnig = yerR @ @i
P T ¢ 2 ? FH AT DY AT R |

9. Describe working function of an escalator with
sketch. 6
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2019(0dd)

Time : 3Hrs. Sem - V/Arch
Build Const. 11

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR(3121an) (i)

Classify different types of stair.

faftr=1 g & W B affevor &3 |

4. Define lift and write different types of lift.

foawe & aR¥ g & vd faf= yor &

: (iii)
fame &1 M fod |

OR (3121a1)

Differentiate between Escalator and travelator.

3 1637501

Prefl T & fa <d g 7 97 A

I AT @ g9

(31) ot IArsq g A BT ARG

@) ftor autf k&g § &= ey

(@) T & TEUg 1.5m A 3Afered T
g+ anfey

(%) Sugaa wf

The continuous moving steps is called:
(a) Escalator

(b) Lift

(c) Winders

(d) Binders

(i) Wad det arelt T B dEd B -

sAdACY Ud gIHeeY @l fang & |

5. Write most suitable position of a lift in a building.
4
w94 ¥ fame & foy 999 Sugaa = fod |
(iv)
OR (3121a1)

Differentiate between framed structure and box type
structure..

(31) TEBbeleR
() fawe
(&) argsx
(]) ¥is=R

The block of stone or concrete under the ends
of a tie beam is called:

(a) Template

(b) Wall plate

(c) Post plate

(d) Battens
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Partition walls are made up of:
(a) Brick masonry

(b) Cement Concrete

(c) Hollow Concrete block

(d) All of the above

qifédad flaR 991 9rd ®:
(@) se fog

@) dc ddic

(W) WrEdT ddic sild
(?) Sudaa u+i|

(vi)

(xx)

(vii)

(vii)

GROUPB

Answer all Five Questions.

gl uig g & SN < |

(viii)
4x5=20
4
2.  What do you mean by foundation and what is

its purpose ?

5 1637501

Sel fiq @ dlsTE SUD TEUS.......
BIdl 2 |

@) A arftre

@) d &4

(d) & aXER

(?) 379 & BIg AL |

The minimum tread width of a stair of public
building should be:

(a) 20 cm

(b) 25 cm

(¢) 30 cm

(d) 40 cm

Hrdoifie Hadl 1 W 7 gl ol
<AAqH dlisTg g4l AMfey:

(31) 20 cm

(@) 25cm

(|) 30 cm

() 40 cm

Queen post trusses are used for span:
(a) Sm to 8m

(b) 3m to Sm

(¢) 9m to 14m

(d) None of these
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(xvi)

(xvi)

10 NT5060

The piece of timber to be provided to prevent
sliding of purlin in a roof is termed as

(a) Cleats

(b) Eaves

(c) Ridge

(d) None of these

Bd A ufel @ fbae @ Aaa & forg
fod T dHdl & gHS B BEd @
(@1) et

@) g

(&) Ret

(@) 379 @ ®I$ |

(xvii) Pitched and sloping roofs are suitable for:

(a) Costal region

(b) Plain region

(c) Covering large area
(d) All of the above

(xvii) TTATR Bd fba & fog Sugaa gkht 2:

(@) wqs o a=

(@) e a=

(@) 9S 89 Bl P » forw
(]) Sux g+l

NT5060

(x)

(x)

(xi)

(xi)

7 1637501

A roof sloping only in one direction is called:
(a) Lean to roof

(b) Gable roof

(c) Hipped roof

(d) Valley roof

98 Bd ol ®dd (& @ feem ¥ 9a &
BT B:

(@) < g w5

@) 19T &%

(@) Ry v%

(%) a<ht ©%

The horizontal wooden or steel members
used to support common rafter of a roof
are called

(a) Purlins

(b) Ballens

(c) Strut

(d) Ridge piece

dAdgl A1 W &1 98 dfas saua «it
Bd © DA AHT dI FUIC HIAT
2, dad @ :
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() deo=a

(|) &<

(=) 451 4
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10.

I @ 41 U s¥p e b ugfd 1
qufq @ |

OR(3721dT)

What is the difference between king post truss and
Queen post truss with sketch.

g & 9t feT i oA vd 7T ule
»dl 9 fadg &Y |

Draw elevation of Queen past truss for a span 10m.

Name its parts.
6

10m 9Te dTdd U o9 Dl &1 Sfgau i
Uqd 39 fAfi=1 3rqual &1 9 fad |

OR(3721dT)

Describe R.C.C roof slab with reinforcement details
with neat sketches.

wWoe a3 & |1 yded &l @ gu 8.
@, B &1 quia @ |
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10.

I & G U s¥peick @ b Ugfd &1
qofq &Y |

OR(3721dT)

What is the difference between king post truss and
Queen post truss with sketch.

g @& gt feT yive o vd 7T uike
o ¥ fade &Y |

Draw elevation of Queen past truss for a span 10m

Name its parts.
6

10m 9Te dTdd U o9 Dl &1 Sfgau i
Uqd 39 fAf=1 3rqyal &1 9/ fod |

OR(3721dT)

Describe R.C.C roof slab with reinforcement details
with neat sketches.
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